3x—y+1, B=—x+2y-20°| tisto] A - Bo] AXHE
?

@ 2x-3y-1 @ 4x+y-1 ® 2x+3y+3

@4x—3y+3 ® 2x+y-1

A-B=Bx-y+1)—(—x+2y-2)
=3x-y+1+x-2y+2
=4x-3y+3




2. 93 P+ DU P +1)P e ARE?

o5 @7 0t @i 6 nx

B

(2 + 1)t e84, (¥ +1)°2 924

TatA (2 +1)* (@ +1)° L
8 +9 = 177} ket Aol o,




3. (a-b-c)?= 37 AT A2?

@® a® + b2 + % + 2ab + 2bc + 2ca
@ a® + b2 + ¢ — 2ab — 2bc — 2ca
® a* - b? - ¢ - 2ab — 2bc — 2ca

@a2+b2+c2—2ab+2bc—2ca

® a®-b?-c?+2ab - 2bc - 2ca

(a-b-c)?
=a’+ (=b)® + (=¢)? + 2a(=b) + 2(-b)(—c) + 2(—c)a
=a? + b% + ¢? - 2ab + 2bc — 2ca




4.

1999 x 2001 o] 3f= Fote] & off, 714 A

® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

@) (a-b)(a+b)=a?-p?

@ (x+a)(x+b) = x>+ (a+ b)x +ab

® a* +b? = (a+b)? - 2ab

A

et
o

1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12




524 ax? - (2a+c)x—1 = (b-2)x2+ (b+3)x—c 7} x| T3t &
2 45 ab,cE AT W, + b2 + 2 9] 22

D 4 @5 ® 6 @ 7 ® 8

B

(E)=(a-b+2)x>-(2a+c+b+3)x-1+c=0
o] o] xof B F5Alolme
a-b+2=0,2a+c+b+3=0,c=1
>a=-2,b=0,c=1

A+ b+ =5




the S40] x o B FEAL W a-b+c o G2

2 =2x+4=a(x-1)(x-2) +bx(x—-2) + cx(x—-1)

® 8 Q)7 ® 3 @ 0 ® -3

0171 5410] x of gt G5 A0 B2 x o] o] ZLE st
T AR

x=0= Ystd

4=2a .. a=2

x= 12 ot

3=-b .. b=-3

x =25 YstdA

4=2c .. c=2




(y—z)c—4z=00°] x, y, 29| Fkoll Aol T4

@ 4 @ 8 3)16 @ 32 ® 64

x,y,z°l sl A 2]stA
(a=b)x+(a+b-c)y+(c-4)z=0
x, y, zol digt &5Aolm=z
a=b,a+b—-c=0,c=4
Ta=b=2 ¢c=4

. abc = 16




ORI £(x) = 5 + 262 —x+ k7 DR -1 Q152 71 1, o]
SR () Q42 42

@ (x=2)(x=-1)(x+1) @ (x=1Dx(x+2)

@+ 1)(x-1)(x+2) @ (x—2)(x-1)(x+2)

f)=(E-10k) = f(1)=
L fQ)=2+k=0, . k=-2
L fx) =x3+2x2—x-2

=x-1Dx+1)(x+2)

JIN




2 =
X =2x—y? 42y 5 AFRAFHEY, (x+ay)(x - by +c) 7F =it
ol W, a, b, cE T=AHE & A2




10. 2 % O
o5 5 oFdA] xt - 8x2 - 99] QI4=7} ofd ZA22

@ —
x—=3 @ x+3
@ x*+1 @x2+9

® B+3x24+x+3




11. A f(x), glx) oA f(x) S x* - 12 U&= U A]7} 20] 7 g(x)

x? = 3x + 22 UiE Y7} 2x 4 101t 2f(x) + 3g(x) S x - 1
Uhe U 2] =2

@3 ©-13 016 @-16 6%

B

ku mlm

f(x)=(*-1)01(x) +2

o f(1) =2
g(x) = (x2 = 3x+2)Qa(x) + 2x + 1,
-og(l)y=3

2f(x) +
)+

3g(x) 8 x- 12 Y& UyHRE=
2£(1) + 3g(

g(1)=2-2+3-3=13




12.

SFHA (x = 1) (x = 3)(x + 2)(x + 4) + 21 & A

2

O (¥®-x-5)(x*+x-9) @ (¥*-x-5
® (XP+x+5)(x*+x+9) @(x2+x—5)(x2+x—9)

® (2-x+5)(x2+x+9)

s of sH?

~&B

(EFA) =(x-1)(x+2)(x-3)(x+4) +21
=(x?+x-2)(x2+x-12) +21
2 +x=AR AF5HE,
(A-2)(A-12) +21 = A2 - 14A + 45
=(A-9)(A-5)
(24 x-9) (% +x-5)

)(x? —x-9)




A+ 2 —x-29 2 +ax+ b9 HAFIFE x4+ 1
ola, HAFulgE xt - 5x2 + 40|tk o] wf, A4 g, b0l thoto] ab

O -2 )2 ® 3 @ 1 ® -1

W¥+2x2—x-2=(x+1)(x+2)(x-1)

) tax+b=(x+1)(x+k)

-5t +d=(x+1)(x-1)(x+2)(x-2)

L+ D) -D(x+2)(x—2)= (x+ D (x+2)(x = 1)(x+ k)

Sok=-2
¥ tax+b=(x+1)(x-2)=x*-x-2
La=-1,b=-2

Soab=2




14. 1999 712] thatAl x2 — 9x — 1, x2 —2x 2, -+, x2 —2x—1999 Zof|A
AG=7t A4l AxpAlo] Fo 2 Q1B 54% AL BT IRI7R

@usH owuA 5K @64 G A

x2=2x-n = (x+a)(x=b) (a, b= ZAA5) 2t otH (1 < n < 1999
< 7pedsp)

ab=n, a=b-2
n=1-3,2-4,3-5, ---, 43-45(=1935) 9] 43 7}




15. Ao Al ¥o] Ao a,b, cAtololl a® +a?b-ac® +ab? + b3 —bc? = 0
o] IA7} ATt o] Az2t-2 ofH A+ Q17

1

S)

O a=bA SRR @ A—90°% AN
® b=caosuard  (@)c=90° A
® B2

a® +a’b—ac® +ab®> +b>—bc? =0

a*(a+0b)+b*(a+b)-c*(a+b)=0
(a+b)(a*+b>-c?)=0

a=-b B ?=ad%+b?

a,b,c B oFolB 2 2 = 42 4 p?

/0 = 9p° ol RZM}7HS]

r 11 3271 o




